[ CBSE

www chsaportal com

|SET-3|

Series GBM I .
Code No. 57/3

Downl oaded From : http://cbseportal . conl

T gligneff e I IWYETH 6 JE-I8
Roll No. T 9T forg |

Candidates must write the Code on the
title page of the answer-book.

o HYA ST H A foh 38 YT H Hfgd Y8 11 2 |

o THUA H qfe TN HT IR fGU MU Sig TR Hl BH IA-YER F @I85 W
forg |

o FHUA A R oh M IH-TTH 26 T F |

o THUIT UYA HT I FIEAT I[E HA W UgA, U9 T ShATH Aava ford |
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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

stta fosm (Fgti=aen)

BIOLOGY (Theory)

FEiRa 77 : 3 T2 SfeHaTH 37% : 70

Time allowed : 3 hours Maximum Marks : 70
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QT 3397 :
(i)  ¥o7-97 § 9l @S] 7 26 397 3T 70 & | @4t 397 79T & 1
(i) @USA TI7FEIr1 & 5 37fd Tg-IT0F Jo7 &, F9% Jo7 1 31 H 8 |

(iii) @SB § Y97 &7 6 & 10 G-I J97 FHR 1 & &, T 9% 97 2 3H] &7
g1/

(iv) @S C T ¥o7 &7 11 @ 22 FTY-ITIT 397 BRI & 8, F9% 97 3 37
HE

(v) GUED T o7 G&IT 23 To¥ STETRT Jo7 4 371 &7 8 |
(vi) @USE H 97 G&I724 & 26 FH-3009 J97 &, Ic9% J97 5 371 HT & |
(vii) Yo7-97 § GHT W B3 [aheq 767 8, 3¢ 41 2 371 arct T J97 8, 8 371 arct

g% Y97 § 31K 5 37! arct g4t a9 gel & it sa-19%eY 2T 0§ | geae
giereff &1 0 Y991 & 31 [dbcql § & Hi5 b J97 &7 HAT & [

General Instructions :

(i) There are a total of 26 questions and five sections in the question paper.
All questions are compulsory.

(it)  Section A contains questions number 1 to 5, very short-answer type
questions of 1 mark each.

(iii) Section B contains questions number 6 to 10, short-answer type I
questions of 2 marks each.

(iv)  Section C contains questions number 11 to 22, short-answer type II
questions of 8 marks each.

(v)  Section D contains question number 23, value based question of 4 marks.

(vi)  Section E contains questions number 24 to 26, long-answer type questions
of 5 marks each.

(vii) There is no overall choice in the question paper, however, an internal
choice is provided in one question of 2 marks, one question of 3 marks and
all the three questions of 5 marks. In these questions, an examinee is to
attempt any one of the two given alternatives.
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Qus A

SECTION A

1. Torelt am footeft 9= O v feR-dga STaaifis 3 g9 3= dicedl 3oad & o
Tqef T8 B | 3Hh NI B 1T Ui g giomg fafEu | 1

An electrostatic precipitator in a thermal power plant is not able to
generate high voltage of several thousands. Write the ecological

implication because of it.

2. SHam) IR # Bt-31fay 1 Icas ffsha fheedl & &9 8 gia1 8 | Ha et
AN (dfct o) o IR T 390 1 81 AT 2 foh I8 MieTsh YAy R AR car R 2 1

Bt-toxins are released as inactive crystals in the bacterial body. What

happens to it in the cotton boll worm body that it kills the boll worm ?

3. 3MIfE R greed i Sfied hl 3l & ded § & 1 @ ymonett w1 Ieaiw
i | 1

State two postulates of Oparin and Haldane with reference to origin of

life.

4. 39 RO % YRR 1 AW A E@E S T 6 Bl Gl "l o qiY H
SSET qa1 TR | wErd e g | 1

Name the type of cross that would help to find the genotype of a pea plant

bearing violet flowers.

5. T % Th S H T H-&GHAT TR ICATGehdT hl AT ISR BIdT & | 39 0L
T YR M % T Tk SR 3R T g dfe | 1

A herd of cattle is showing reduced fertility and productivity. Provide one

reason and one suggestion to overcome this problem.

57/3 3 P.T.O.
Downl oaded From: http://cbseportal.com Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

[ CBSE

www chsaportal com

Downl oaded From : http://cbseportal . conl
€us B

SECTION B
6.  CFCs %I ST §¢ i+ ¥ WG Siad &l 8 dTel IR 14} 1 =t s8¢ | 2
Jreran

= @ Tl &1 vkt 3TEw <4 g gEma @i, S forer st dherad
Tfiefier s geem e | Hgal S & | 2

List four benefits to human life by eliminating the use of CFCs.
OR

Suggest two practices giving one example of each, that help protect rare
or threatened species.

7. A & A YBNA & fgue AW fAfgu R 39h e ¥ 3 SHeETeh
Saafsra Icarel sl ot Sarsy | 2

Give the binomials of two types of yeast and the commercial bioactive
products they help to produce.

8. i fou U Sgafire el # AR FATsT 2
(a) 3mMEfqy 3R At
(b)  AUBIRHT 3 IRTH

Differentiate between the genetic codes given below :
(a)  Unambiguous and Universal

(b)  Degenerate and Initiator

9., TTWEHIY H ¥ HSd HI IRV H fehd-l hifTehd IYMEIT BIdt & 2 hIRTehIA
& A &dsy | 2

How many cells are present in the pollen grains at the time of their
release from anther ? Name the cells.
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10. 9HF IR F HR GG & q1G HIV HIREHST & 8 G4 H T obidl &
IR AT FATSY, | I HIREHIS H T 211 2 3R 1G § 3 HIThIeA i Fohd
A W YEIET ST ® 2 T8 @ HIV 59 RifSeeei W Sisheun it 8 39k 9g

<pl AMH &FdRT | 2

Name the group of cells the HIV enters after getting into the human
body. What happens in these cells and what are these cells subsequently
referred to as ? Name the next group of cells the HIV attacks from here.

@vus C
SECTION C

11.  TEI%d, SREAN9I9Ha SR g4l sfeaicrg hi 9ot T Ieh o™ < u
yHafed Hife | ITeh! faepmeta fafsmedrsti i ==t il | 3

Rearrange Ramapithecus, Australopithecus and Homo habilis in the
order of their evolution on the Earth. Comment on their evolutionary
characteristics.

12. (a) YIS DNA W § Tommgrdl ~Jfaasiicrss SHa’ & Haw i
SR HIfT |

(b)  3uIh Ufshal § WfdeeH TSIIfFeTtst shl 3T FATsy, | 3

(a)  Explain the significance of ‘palindromic nucleotide sequence’ in
the formation of recombinant DNA.

(b)  Write the use of restriction endonuclease in the above process.

13. 9Hd A 91 § HgNd I R WISH % Hod o HRU HEGl § Bl el W,

3T TRk e, UTAU (SIg i) T 3T el T 9 FaTsy | 3
AT
(a)  SAMUTIHT ! 30 10 T S FA1 &dT 8 b Hal 37 RN 3nf¥a =i
%l Tefiet gereli/afen it @a 7 U S ?
(b) TR s==i il it erei/afen i od 93 I & wed d ‘SEa’ ik
“Trafear (dependence)’ﬁﬁwaﬁﬁlﬁ | 3
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Name a human disease, its causal organism, symptoms (any three) and

vector, spread by intake of water and food contaminated by human faecal

matter.

(a)

(b)

14. (a)

(b)

(a)

(b)

OR

Why is there a fear amongst the guardians that their adolescent

wards may get trapped in drug/alcohol abuse ?

Explain ‘addiction’ and ‘dependence’ in respect of drug/alcohol

abuse in youth.

AHa iAW g | ffga & gonfert s gt s91sT | TSy R 3%

foRE SRR SIaF Tehalm TIT o |

YAC’ ®1 QU 9 aET AR Ieor@ hive foh 39 fohaeh faw seauma
IERIEICIRIN

List the two methodologies which were involved in human genome

project. Mention how they were used.

Expand ‘YAC’ and mention what was it used for.

15. gHrhiferan it Jemfifien umai & o wfer-gefed faer § | 3% SR Sy
AT g1 b s 3Tt off Tase AT | AR for &1 38 Jvft &1 AW Fasy
fSraeh sfarta 3 QAT o1d € |

Both Haemophilia and Thalassemia are blood related disorders in

humans. Write their causes and the difference between the two. Name

the category of genetic disorder they both come under.
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16. (a) A % ded #, Fu=H & uvarq Yoy & giadq 6 ==l sy |
YUY o IREEH % T Hl Ieai@ hifaT |

(b)  “GU S k1 HE feARaU | 3

(a) Trace the development of an endosperm after fertilisation with
reference to coconut. Mention the importance of endosperm
development.

(b)  Write the importance of ‘pollen bank’.

17. PCR Uik § a9, WEAU 3R S 97 gaaicsg i st &1 auH
HIT | 3

Describe the roles of heat, primers and the bacterium Thermus aquaticus
in the process of PCR.

18. dTfed Aol o fgcfioeh IU=R =l Afesh Iu=m oft had § | 38 weq it gfee Hifse
qenm gfskan <1 sameat HifSu | 3

Secondary treatment of the sewage is also called Biological treatment.
Justify this statement and explain the process.

19. bW sgfod o Icared # Tiga fafia =won 6t e i | 3
Explain the various steps involved in the production of artificial insulin.

20. 3cIICHAT, Tohal MM IcUTEehdl 3T G ICATGHhAT o sie IREINh T h
ol T | 3

Describe the inter-relationship between productivity, gross primary
productivity and net productivity.

21. (a) IS fopEM I0 T h BEA T HH-G TifSd AL GHT AR 8 ?

(b)  ITfSd AL ITAT =T I H UTeT Ioi=9 dehrleh] 9 394 YR o foraml
<1 TorT TR Hae <hl 2 3

(a)  Write the desirable characters a farmer looks for in his sugarcane
crop.

(b) How did plant breeding techniques help north Indian farmers to
develop cane with desired characters ?
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22. HE Tg R WA NY 3o 30 wiae § Sifad a9 @ o folw feht “uehie
3TIHId BId @ ? eS| 3

How do kangaroo rats and desert plants adapt themselves to survive in

their extreme habitat ? Explain.

Qus D
SECTION D

23. 3AMAR W Ig <@ Ial & foh Afferar 3 S99 & 91§ J1ar-{uar 19+ forae
A o A1 GAR T B H IATH TeHE A § | HIG1-Yar hl 36 IASH
iy I8 g1 2 foh o= hft-ond) weeh S 2 |
(a)  AT9h! T H 39 fIwi o SR | 794 dgd =l o 1Y GARL =i 7 i

% % $© wral-udrsti i IeeHl 1 FT SRV § ? ST HIT |

(b) U T Y 3R TH g 1 3@ ¢d §U, 39 39 Wia-fyarsti S
IR AfTehdT o IR H 39 39T ¥ IR 9 H fohd IohR HERAT Ul 2 4

It is commonly observed that parents feel embarrassed to discuss freely
with their adolescent children about sexuality and reproduction. The

result of this parental inhibition is that the children go astray sometimes.

(a)  Explain the reasons that you feel are behind such embarrassment
amongst some parents to freely discuss such issues with their

growing children.
(b) By taking one example of a local plant and animal, how would you

help these parents to overcome such inhibitions about reproduction

and sexuality ?
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SECTION E

24. (a) oTeflT Goll Al TR b WY H I () oAl I AR F WY *
1 i FoRaT T | 38 M I A& Rl atel Hel < WY ok Syl
I A HH o foAw R T | 39 i w1 g FHemifere arfe 3tma =

el o2 uge & o T B weh |
(b) SN & Hed o 39 0 o1 Ieorg hifve [Jrd e &9 8 wier
ERISICIEE 4+1=5
ST

(a) HaEd g1ed H e o A 84 ¥ § Hlord T o= sl At
yTfad B STt 8 | & 3T HE 2 s9redn i |

b) Tl @ alet = fafae 8 gl @ S siftreafea <1 framm
foma STaT ® | 4+1=5

(a) A pea plant bearing axial flowers is crossed with a pea plant
bearing terminal flowers. The cross is carried out to find the
genotype of the pea plant bearing axial flowers. Work out the cross

to show the conclusions you arrive at.

(b)  State the Mendel’s law of inheritance that is wuniversally
acceptable.

OR

(a)  Absence of lactose in the culture medium affects the expression of

a lac-operon in E. coli. Why and how ? Explain.

(b)  Write any two ways in which the gene expression is regulated in

eukaryotes.
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(b) T I YOI AJARH €9 ¥ T9M BId & Agan i 2 == Hifvw | 3+2=5

YT

(a) Uk AFA Sl o ATdd Tsh ohl HHTIRad et shl samedT shifv
(i) ATda JTaEe
(i) geehrd JTaer
(i) dafds (egfesre) wreeen

(b) 3Td =3k ! TEI-EEl TSR TRER FEeH o srafies @gmEar #

Hohdl & | T A 3H HIF U TEAd & ? I IW & AT HRU
IS 4+1=5

(a)  When a seed of an orange is squeezed, many embryos, instead of
one are observed. Explain how it is possible.

(b)  Are these embryos genetically similar or different ? Comment.

OR

(a)  Explain the following phases in the menstrual cycle of a human
female :

) Menstrual phase
(i1))  Follicular phase
(iii) Luteal phase

(b) A proper understanding of menstrual cycle can help immensely in
family planning. Do you agree with the statement ? Provide
reasons for your answer.
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26. (a) Torell Tiiefig 1 Tufee glg o J-3HR W S-AHR AISHAT bl <hlevl

SdTd Y o1 hIfT |
(b) Sfed g &ars T8 “wiefiet 1 ewar” shi e Hifv | 3+2=5
Frorat
(a) UTRfefaeh fRfre = giaT 8 2 3o, Sa-Hgfd 3R @& & fRfuet &
ENEUCTIE I
(b) wifeufaeha fifuei < =g @ dard sarse | 4+1=5

(a) Compare, giving reasons, the J-shaped and S-shaped models of
population growth of a species.

(b)  Explain “fitness of a species” as explained by Darwin.
OR

(a)  What is an ecological pyramid ? Compare the pyramids of energy,
biomass and numbers.

(b)  Write any two limitations of ecological pyramids.

57/3 11
Downl oaded From : http://cbseportal.com Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

